### NATIONAL COUNCIL FOR TEACHER EDUCATION

Application for grant of Recognition of Teacher Form of Education Institutions/Permission t start a new course or increase in intake (Other than open and Distance Learning System)

#### 1. **GENERAL PARTICULARS / INFORMATION**

1.1 Name of the Institution **Sanjeevani College of Education** :

1.2 Postal Address in Full Nagarjunasagar Raod, (Including PIN code) Konda Mallepally P.O.

> Devarakonda (Mandal) Nalgonda Dist-508243, A.P.

Cell: 9866269845, 9849991891 1.3 Telephone No./Fax/E.mail

> email: raphael1@rediffmail.com info@sanjeevanicoed.org

1.4 Nearest Railway Station Nalgonda 55 Kms :

with distance in Kms

1.5 Nearest town with distance in Km

> In located in rural areas Nagarjuna Sagar – 40 Kms

1.6 Name of the programme : B.Ed: One Year Programme

1.7. No. of units/intake proposed (Indicate whether it is for a new programme or for an additional intake in a recognized programme)

New Programme: 100 Seats

Intake

1.8. Academic year (Indicated the month) from which the programme is proposed

November 2006-2007

1.9. Name of the affiliating / examining body : Osmania Univeristy,

Hyderabad

1.10. Type of Institution (Boys/Girls/Co0ed.) : Co-education

Whether the No Objection Certificate (NOC) issued by the State Govt. for 1.11 Starting the Proposed programme has been attached:

> Not Applicable as per NCTE (Recognition Norms and Procedure)

Regulations, 2005 dated Dt. December, 27,2005.

1.12 Details of Application Fee

(a) Amount : 1. Rs.1000/- Application Fees

2. Rs.40,000/- Processing Fees

(b) Draft No. and Date : 1.DD No.591169 Dt.03-10-2006

2.DD No.591167 Dt.03-10-2006

© Name of the Bank : Andhra Bank, Devarakonda

## 2. TYE OF MANAGEMENT

2.1 Please indicate if the institution is to be managed by a society or Trust/Board (a copy of each of the Certificate of Registration, Memorandum of association, Bye laws etc., should be attached)

Managed by Sanjeevani Charitable Trust – copy of Certificate of Trust Deed along with aims, objects and bye-laws attached.

# 3. INFRASTRUCTURAL FACILITIES

- 3.1 Please indicate if land is available in the name of the Institution, either on ownership or on long term lease basis.
- 3.2 If the course is proposed to be started in a building already constructed, following details / documents may be furnished
  - (a) approved building plan with the details of area floor / room wise : Enclosed
  - (b) completion certificate from the local authority: Enclosed
- 3.3 If building is yet to be constructed, the following details / documents should be furnished.
  - (a) Site plan: Not applicable
  - (b) Approved building plan with details of area floor / room wise : not applicable
  - (c) Date of commencement of construction: not applicable
  - (d) Likely date of completion of construction: not applicable
- 3.4 Pending construction of own building, details of building(s) identified for starting the course.
- 3.5 If more than one building has been identified, distance from one building to the other be given.
  - Six Constructed buildings are identified : four buildings are side by side ; fithe one is about 25 meters away and the sixth one is about 150 metres away.
- 3.6 Usable area of the building(s) in sq. ft: 14,305 sft
- 3.7 Are water, electricity and toilet facilities available?

- Yes, available Location of the building whether residential or non-residential ? 3.8 Non-residential area.
- Following specific details of accommodation may be furnished. 3.9

Building No.	Floor	Room No	Proposed Purpose	Dimen- sions Sft.	Total area in Sft.
I	-	1	Language Lab	31' x 23'	713
	-	2	Education & Tech Lab	31' x 23'	713
	-	3	Social - Science Lab	31' x 23'	713
	-	4	Office Room	31' x 23'	713
II	-	5	Class Room	36' x 31'	1116
	-	6	Class Room	32' x 22'	704
	-	-	Toilets (4 Nos)	25' x 08'	200
III	Ground	7	Library & Reading Room	20' x 35'	700
		8	Work Experience Room (S.U.P.W.)	23' X 27'	621
		9	Class Room	18' x 35'	630
	First	10	Class Room	24' x 27'	648
		11	Staff Room	25' x 19'	475
		12	Principal Room	12' x 27'	324
IV		13	Boys Common Room	16' x 24'	384
		14	Sports Room	16' x 12'	192
		15	Security Room	16' x 12'	192
v	Ground	1	Psychology Lab	22' x 33'	726
		2	Girls Common Room	11' x 33'	363
	First	3	Science Lab	22' x 33'	726

VI		4	Seminar Hall	44' x 40'	1760
		5	Multipurpose Hall	44' x 17'	748
		6	Balance Room	17' x 9'	153
			Toilet Bloc, 4 Rooms	25' x 8'	200
Total Area					13,404
Add space of three verandahs					900
Total Plinth area of all the six buildings					14,304

- 3.10 Give details of space available for outdoor (Play Ground, etc.) / indoor games Required space available.
- 3.11 Give full details of furniture available
  - Enclosed –

## 4. **CURRICULUM TRANSACTION**

4.1 Details of full time teaching staff / non-teaching staff, as per norms, if already appointed / selected/ identifies ( a separate statement giving name, date of birth, educational and professional qualifications with year of passing and date of joining to be enclosed)

Teaching Staff

Non-Teaching Staff

Principal – 1 Lecturers – 7 As per state Government norms

4.2 Please indicate the steps that are being taken for recruiting teaching staff and non-teaching staff for the course ( Give the procedure or recruitment and composition of selection committee )

As stipulated by the AP State Government.

- a) Qualifications as prescribed in GOMS No: 158 Edu dt 10-06-87
- b) GOMS No. 119 Edu dt 22-03-91.
- c) GOMS No. 12 Edu dt. 10-01-92 (selection procedure) and other rules as on date incorporated by NCTE on the subject.
- 4.3 Names of Primary Schools / Lower Primary Schools / elementary schools / Secondary schools / Senior Secondary Schools identified for practice teaching / internship and their distance from the institution.
  - 1) Govt Upper Primary School, China Adiserlapally 1 km from college
  - 2) Govt Primary School Chilakamarry 1 km from college
  - 3) Govt. High School Mallepally 4 km from college

- 4) Vijayamarry High School Mallepally 4 km from college.
- 5) Sarada High School K Mallepally 4 km from college.
- 6) Siddartha High School K Mallepally 4 km from college.
- 7) New Siddartha High School K Mallepally 4 km college

# 5. INSTRUCTIONAL FACILITIES

- 5.1 Details of laboratory facilities such as Science Laboratory / Psychology Laboratory / Education Technology and media laboratory along with available equipment and software and hardware facilities may be give.
  - a) Science Laboratory List enclosed
  - b) Psychology Laboratory List enclosed
  - c) Education Technology and Media laboratory

Multimedia Computer, Projectors, Camera, OHPS, Tape Recorders, VCD and accessories for the Lab will be procured.

5.2 Give details of Laboratory equipment, computer hardware and software and other teaching aids.

List Enclosed

- 5.3 For C.P.Ed. / B.P.Ed. / M.P.Ed. Courses, following details may be furnished
  - a) Details of play fields / multipurpose hall / gymnasium for indoor sports.

Not applicable

b) Details of various equipment for games and sports

Not applicable

c) facilities of health education and anatomy and physiology lab along with the details of equipment.

Not applicable

5.4 Give Details of books, magazines, journals audio-visual aids, teaching aids and play materials.

Books 2000 Encyclopedia 4 Journals 19

Sports and Play materials available.

## 6. FINANCE

6.1 Indicate the sources of finance and funds available for running the institution / programme.

Sanjeevani charitable Trust has a minimum of Rs.30.00 lakhs as reserver fund for running its educational and other charitable programs. Besides, the Trust Donors contribute for its programs every year a minimum of Rs.25 lakhs.

6.2 Has the institution provided endowment and reserve funds? Original fixed Deposit Receipt for Rs.5.00 lacs towards Endowment Fund to be enclosed, which will be converted for joint operation after grant of recognition.

Enclosed original Bond (FDR No.493127) Dated 03-10-06 drawn on Nagarjuna Grammena Bank, Konda Mallepally Branch.

# 7. OTHER INFORMATION

7.1 Details of other courses, if any, being run by the institution

**New Institution** 

7.2 Details of other institutions, if any, being run by the Society / Trust / Board.

Name of the institution courses conducted

Sanjeevani Degree College a) B.Sc. I) M.P.C II) B.Z.C.

II) B.Z.C.

b) B.A. I) E.H.P.

II) H.P.P.

Sd/

Place: Konda Mallepally Fr.E.Raphael
Dt: 03-10-2006 Managing Trustee

Sanjeevani Charitable Trust